
HB760 - HARMONIC BALANCER INSTALLER

Parts Breakdown



Item: HB760

Description: HARMONIC BALANCER INSTALLER

 N/ANotes:

Figure No Part Number Description No. Reqd Warranty Code

1 HW52270 7/16 XX 20 ADAPTER 1 K

2 HW52300 1/2 X 20 2 K

3 HW52330 9/16 X 18 ADPT F/HB526 3 K

4 HW52340 5/8 - 18 BOLT F/HB526 4 K

5 HW52360 3/4 X 16 ADAPTER 5 K

6 HW52350 16MM 2.0 ADAPTER F/HB526 6 K

7 HW52320 14MM X 1.5 ADAPTER 7 K

8 HW52290 12MM - 1.50 ADAPTER BOLT 8 K

9 HW53770 M12 X 1.5 ADAPTER F/HB760 9 H

10 HW52230 CENTER SCREW F/HB526 10 K

11 HW53490 M16 X 2.0 ADAPTER-LONG F/HB460 11 H

12 HW53480 M14 X 1.5 ADAPTER- LNG F/HB460 12 H

13 HW66860 M12 X 1.75 STUD 13 A

14 HW52240 FLANGE NUT FOR HB526 14 K

15 HW66720 12MM X 1.75 NUT F/66550 15 K

16 HW52210 NUT 16 K

17 HW52250 SPACER 17 K

18 HW52220 THRUST BEARING FOR HB526 18 A

19 HW53470 SPACER F/HB460 19 H

20 HW53780.86 CASE F/ HB760 20 J


